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Part| Test

Test One

Section A

Directions: In this section, you will hear 10 short conversations. At
the end of each conversation, a question will be asked
about what was said. Both the conversation and the
question will be spoken only once. After each question
there will be a pause. During the pause, you must read
the four choices marked A), B), C) and D), and
decide which is the best answer. Then mark the
corresponding letter on the Answer Sheet with a single

line through the centre.

1. A) Waiting for a taxi. C) Taking photos.
B) Watching birds. D) Playing cards.
2. A) To borrow money. C) To make some coffee.
B) To see movie. D) To prepare a dinner party.

3. A) The woman is a mountaineer.
B) The woman doesn’t believe what he said.
C) Mount Everest is very high.
D) The man is an actor.

4. A) He helped the man a lot in prison.

B> He has made a crime recently.



C) It’s difficult for him to find a job because he made many
crimes.
D) He’s been in prison for some time.
5. A) Bob is interested in living in hotels.
B) Bob gets interests from a hotel.
C) Bob has got a job in a hotel in fact.
D) Bob doesn’t live as well as the woman thinks.
6. A) The schedule should be reprinted.
B) The train never comes when it should.
C) The company should have a better schedule.
D) The company has a trouble to print a schedule.
7. A) He suddenly decided not to sing.
B) He’ll be singing at the end of the show.
C) He was supposed to sing last night instead.
D) He already sang very briefly tonight.
8. A) He caught Steve taking a nap.
B) He doesn’t sleep as much as Steve.
C) Steve is trying to get as much sleep as he can.
D) Steve won’t sleep this much once he gets home from
college.
9. A) He won hardly.
B) He didn’t catch the ball well encugh.
C) He {failed in this match.
D) His hand got wounded badly.
10. A) Because he doesn’t like this company.
B) Because he feels safer in another company.
C) Because he thinks his job is rather boring.
D) Because he has found a better paid job.

Section B

Directions: In this section, you will hear 3 short passages. At the
e D



end of each passage, you will hear some questions. Both
the passage and the questions will be spoken only once.
After you hear a question, you must choose the best
answer from the four choices marked A), B), C) and
D). Then mark the corresponding letter on the Answer
Sheet with a single line through the centre.

Passage 1
Questions 11 to 13 are based on the passage you have just heard.

11.

12.

13.

A) Common interests would guarantee success in marriage.

B) Marriage partners should have their own likes and dislikes.

C) People should develop common interests before engagement
period.

D) All the couples with common interests would never
separate.

A) To have widely divergent interests.

B) To develop common interests during engagement period.

. C) To give up some of your hobbies.

D) Both A) and B).

A) Importance of Common Interests in Marriage.
B) Marriage.

C) More Sports for Couples.

D) How to Prevent Separation in Marriage.

Passage 2

Questions 14 to 16 are based on the passage you have just heard.

14.

15.

A) Wolves can hardly survive.

B) Wolves have existed for many years.

C) Why wolves have existed thus far.

D) How wolves give birth and hunt.

A) Because they can exist on a highly varied diet.

B) Because they give birth to six to ten cubs at a time.



16.

C) Because they raise their cubs all carefully.
D) Because many cubs survive,

A) The whole family hunt together.

B) The cubs hunt led by their adults.

C) They hunt in groups led by their leaders.
D) They hunt in very large areas.

Passage 3
Questions 17 to 20 are based on the passage you have just heard.
17. A) 1895 C) 1905
B) 1900 D) 1910
18. A) As a decorated soldier.
B) As a writer.
C) As a flying ace.
D) As a member of the Resistance.
19. A) Essentialism. C) Existentialism.
B) Sensationalism. D) Experimentalism.
20. A) Carpet. C) Story.
B) Hypothesis. D) Character.
Section C

Directions; In this section, you will hear a passage three times.

W hen the passage is read for the first time, you should
listen carefully for its general idea. Then listen to the
passage again. When the passage is read for the second
time, you are required to fill in the blanks numbered
from S1 to 87 with the exact words you have just
heard. For blanks numbered from S8 to S10 you are
required to fill the missing information. You can either
use the exact words you have just heard or write down
the main points in your own words. Finally, when the

passage is read for the third time, you should check



what you have wriiten.

Life Saving Stations are located along the coasts of America to

rescue people who are in danger (S1) . Life can
be dangerous for men who (§2) » and one never
knows when (S3) will become a gale with the
power to drive a small boat (584) . When
(S5) happens, it is the job of the men of the

Life Saving Station to go out and help the men (S6) L
To do their job well, (S7) in their work, these
men must have special skills. They go to special schools to learn

some of their skills, (S8)

, that is, they learn by acturally

doing their jobs. (89)

. In addition,

they must be brave. (S10)

Test Two

Section A

1. A) Come back soon.
B) Pick up her friends.
) Return with information about the buses.
D) Cross the town on the way.
2. A) Even the floor is spotless.
B) She prefers sitting on the floor.
C) The meal will be ready at four.
D) The kitchen is quite dirty.

a

3. A) This is the first time they meet.



B) They are very good friends.
C) They don’t know each other very well.
D) They worked in the same company before.
4. A) In the classroom. C) In the library.
B) In the language lab. D) In the telephone booth.
5. A) He speaks too fast.
B) He speaks too slow.
C) He doesn’t come to the point.
D) His speech is not clear.
6. A) He is afraid of Joe. C) It is an old coat.
B) He doesn’t like Joe. D) It belongs to Joe.
7. A) It's only for close friends.
B) It’s for men only.
C) It’s a prearranged party.
D) Because she is not friendly with him.
8. A) He didn’t expect there would be so many books.
B) Four books are a lot to borrow from the library.
C) He isn’t sure she counted all her books.

D) She has reminded him that he also has some books to

return,
9. A) Aunt Louise. . C) The father.
B) The son. D) The mother.
10. A) New York. C) Boston.
B) San Francisco. D) Washington, D. C.
“Section B
“Passage 1

Questions 11 to 14 are based on the passage you have just heard.
11. A) About 19,000 years ago. C) About 1,700 years ago.

B) About 1,900 years ago. D) About 48,000 years ago.
12. A) A burial site in Egypt.
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13.

14.

B) Many bones.

C) A place where ancient man used to sacrifice animals.
D) Skeletons of a man and a dog.

A) They were nomadic.

B) They built limestone temples.

C) They lived in what is now Israel.

D) Their culture is about 1:000 years old.

A) The dog was very young.

B) The relationship of the person and dog was affectionate.
C) The man and the dog were very near to each other.
D) The man loved the dog very much.

Passage 2
Questions 15 to 18 are based on the passage you have just heard.

15.

16.

17.

18.

A) The oldest universities in Britain.

B) Famous universities in England.

C) Development of universities in Britain.

D) Young people prefer new universities than old ones.
A) Between 14th and 15th centuries.

B) Between 1850-1930.

C) In 19th century.

D) After World War I.

A) Europe. C) Cambridge.
B> Oxford. D) Both B) and C).
A) They were founded in the 19607s.

B) They offered many courses in the social sciences.
C) They are more important than the old ones.
D) They are favoured by many young people.

Passage 3

Questions 19 to 20 are based on the passage you have just heard.

19.

A) There would never be a shortage of natural resources.
B) They kept used nails for future use.

o7 .



C) They put names of vice-presidents on envelopes.
D) Even the smallest banks use expensive stationery.
20. A) Americans’ wastefulness began when the Americans pushed

westwards.

B) Americans’ wastefulness began before the land was found
by Europeans.

C) The American Indians helped the pioneers to farm their
lands.

D) Nature’s resources were very plentiful in America.

Section C
One day a tailor in Duluth, Minnesota, was busy (S1) ’
repairing some holes and a place where (S2) ,

when he suddenly heard a growling sound (53) ;

He locked up and (S54) what he saw. He had
heard there were bears (S5) looking for food,
but it didn’t (S6) the brown beast at his door
was real. He was terribly frightened. He-had no gun in the shop.
His only weapon was (87) he used for cutting
cloth. (S8) . The

driver saw the bear and was so surprised he steered his car off the
road and onto the sidewalk. Luckily, (59)

The bear moved quickly on down the street to look for food
elsewhere. (810)

Test Three

Section A
1. A) She is an extremely fast reader.
- 8 *



10.

B) She enjoys reading novel.
C) She read the book straight through.
D) She only read the selected parts of the book.

B) They work at 200.
C) They are going to feed the elephants.
D) They enjoy watching elephants.

. A) The time was changed again.

B) It ends just before 4:00.
C) It lasts longer than it is supposed to.
D) It always ends at 4:00.

. A) It only eats cat food.

B) It likes cats better than dogs.
C) It looks like a cat.

D) It never barks at cats, but always barks at dogs.

A) She is going to ride a bicycle.

B) She’s going to drive a car.

C) She is going to ride a horse.

D) She’s going to run through the forest.

A) There was snow all winter.

B) It was really very cold.

C) It snowed in December.

D) The temperature was below freezing.

A) A pharmacist. C) A librarian.
B) A salesman. D) A doctor.

. A) Eat in a restaurant. C) Go shopping.
B) Go fishing. D) Buy fish.
. A3 C) 12
B) 6 D) 24
. A) He was on crutches. C) He was lamb.
B) He was lame. D) He couldn’t bend over.
. A) They are going to do some art work.



Section B
Passage 1
Questions 11 to 14 are based on the passage you have just heard.
11. A) Georgia. C) Jackson.
B) Johnson. D) Oak.
12. A) Things may own property. C) Many people love trees.
B) Oak trees grow old. D) Trees sign deeds.
13. A) It was sturdy. C) It was an oak.
B) It was old. D) He loved it.
14. A) In California. C) In Georgia.
B) In Washington. D) In Jackson’s villa.
Passage 2
Questions 15 to 17 are based on the passage you havé just heard.
15. A) Elephants. C) Spiders.
B) Fox. D) Insects.
16. A) Young birds and bats must be taught to fly.

17.

B) Young elephant does not seem to know at first what his
truck is for.

C) Thousands of young seals drown every year.

D) Older harvest mice build better nests than beginners.

A) Animals know what to do because of instinct.

B) Animals are controlled by heredity.

C) All warm-blooded animals often reject their parents.

D) All warm-blooded animals learn behavior from their

parents.

Passage 3

Questions 18 to 20 are based on the passage you have just heard.

18.

A) Because they raised widespread concern.
B) Because they take the place of conventional telephone lines
in heavily built-up areas.
¢ 10



C) Because they are a great challange 1o the landline networks
in heavily built-up areas.
D) Because they are too expensive.
19. A) In remote villages and mountain regions.
3) In heavily built-up areas.
() In cities with extensive telephone and telegraph systems.
D) In large businesses groups.
20. A) People worry about communications satellite systems very
much.
BB) Communications satellite systems meet with a lot problems.
C) Domestic satellites will be used much more widely in the
future.

D) Domestic satellites have too much opposition.
Section C

The prisoner had waited many months for help, but none had

come. Now he felt he would do anything 1o (S1) .
to be free again to(S2) as he wished. But he
could think of (S3) . The only window in the
room where he was kept was top small for him to (S4) )

and the door was always (S5)

It was difficult for him to remain idle (S6) )
since he was a naturally active person. He had no books. no paper
and pencil, nothing to (S87) L and help him forget

his unfortunate situation. (S8)

regretting the mistakes he had made and dreaming of the joys he
had known. (S9)

. He was guilty of

no crime, (810)
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